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An action of a qualitative nature that occurs internally

without the need for any training and experience

1.

2.
3.
4

Growth
Development
Maturity
Behavioral Change

fopt oftf ufdreror &t 3maeTddr & foer sfaRe 3u A

1. siegg

2. fao=

3. uRua

4.  TagrR uRRade

One of the following statement is not true

1.

Development is rapid in the first three years
of life in children

2. Growth stops at some point in individuals

3. Changes caused by development can be precisely
measurable

4. Growth is a part of development

A®! Alfaes aRade A PIs JAdT =g 3 . ...

1. ugd et guf & SRIa a=al A faeprT it J glar 31

1. Rl # sifigery it vas feldaa smawen & 5@
ST 3

3. oo & SR gia aret uRade @ Fdie 3 A
YT ST AbdT 3

4.  stgigy fae # ve gz gl



‘Innate ability of a person’ refers to

1
2.
3.
4

Heredity
Environment
Development
Attitude

qorelshH
GIGIGEAY|
R

gt

“Adolscere” means

1
2.
3.
4

To grow into maturity
To grow to development
To grow to Emotions

To grow to reproductive stage

“31EIeRA (Adolscere) w1 372f Bl

il .

yRudadr & 31 ggen
ferepT Y 3R doe

Ao ufRurta 31rer
UoTelel 31aRIT &l 3Tl



Child’s first ‘Social activity’ starts with their friends through
1. Parallel play

2 Associate play

3. Co-operative play

4 Isolate play

AT Bl B....

1.  JAAER JAdA
2. A JeA

3. AgIRN B
4.  3Mhal B

According to piaget ‘A child who sees an aeroplane for the
first time, and thinks it is a white bird’ relates to

1. Assimilation

2 Accommodation
3. Organization
4

Constructive knowledge

RSt & 3R, ‘TS g St ugelt IR gaTg Sighet
2HaT 3 31T Aadr g 6 35 v Ahe ueil 31 45 ... 3
1. 3cH ATHI

2 orfa

3. IIree

4. TIATHD e



According to Gardner number of items in multiple
intelligence are

MMEAR & 31JAR Ig Jfeg acdl Bl AT
l. 3
2. 10
3. 8
4. 5

The scientist not related to development of ‘Rating scale for
Attitudes’ is

1. Guttman
2. Likert

3. Thurstone
4. Binet

‘sriargiger o1 Ther’ fawra A T dsferss enfdet =gt

3.

1. J[CHS
2. g
3. e
4.  fa=



10.

According to Wallas, “Yes I got it” stage in creative process is

1. Preparation
2 Incubation
3. Illumination
4 Verification

TeeTA & STAR JoTATcHD Tihal H 3Mg HAel SHreln

HTIETT TS dTeft 379l F ..
1. dcu=dr & 3@z

2. HIEGIOrd P g

3. Y19l bl 37T

4. A B 37T

The oldest psychological study method
1. Introspection method

2 Observation method

3. Experimental method

4 Case study method

AJA TR 311 Aetser 3rede fafér ag 2....

1.  3ia: geror &ty
2. 37adidwd fater

3. URIOTcHSD fafer

4,  Iterd eI fater



11.

12.

“Learning is reinforced practice that brings relatively
permanent change in the behaviour” defined by

1. Hill Guard

2 Gates

3. De cecco & Crawford
4 Kimbal

“3iftPT gedee 313 A FragR A A g ae
31frpaR oM uRRadel 37’1 Ig uRHT fhegiat <l

1. TEewms

2. A

3. RT3k Bres
4 fhaar

‘Engrams’ are not formed by this
1. Aptitudes
2. Trainings
3. Experiences
4. Sleep

1.  e/HAdame
2. ufdremor
3. 3%

4. i



13.

14.

A student read a book in 30 hours, Next time he completed the
same book in 15 hours. The saving score is

‘T B o UP JZad Bl 30 6l adb Uel, 3t JIadb
Pl I AR 15 "l FH yer’”’ df 3A B B! aad I gl

1. 50%

2. 45%
3. 30%
4. 15%

Loss of memory due to interference effect is called

1. Retention

2 Learning

3. Inhibition

4 Motivation

gAY TG &b HRUT ‘W faemer g .. Hgr siar
3l

1.  ufgem=on

2. siftpE=

3. ey

4. 3RO



15.

16.

Balu can sing well but cannot dance. This difference is

1.
2.
3.
4.

QT 31TBT I ABAT g cAlhel oI/ aigl Abdl | G 3

3l

1.

2.
3.
4

Inter individual difference
Intra individual difference
Neutral difference

Motivation difference

3R Aferord A
3iaoia Sfthora e
deel A
U A

A child is going to library on his own. This type of
motivation is

1.

2.
3.
4

Extrinsic Motivation
Intrinsic Motivation
Achievement Motivation

Need based Motivation

‘U BT 31U 31U AT Bl S @1 37| I§ HAA
... IR BT 3STEI0T gl

b=

qTgl S=om

3MaiRe S=om

arEl ST gl
3MTA9IBdT MM J=oN



17.

18.

Author of “Social Learning & Personality Development”

1.

2.
3.
4

Bandura
Bruner
Binet

Skinner

Social learning & Personality Development, 3l & &i5Th

3l

1.

2.
3.
4

“Priority will be given to the method of teaching than the
content” stated by

1.
2.
3.
4.

Pavlov
Thorndike
Binet

Bruner

fareror faw=nt & sremar ““freror Al B 31fes Fga
a1 Bl I FeAA ... G

o=
LR



19.

20.

“The relation between parts and whole can be transferred to
new situation” is stated by

1.

2.
3.
4

Charless Judd
Kohler
Baghley
Thorndike

sl 3Tk AgYl & T & Fdy B oF Rty A wreiala
e S AdGar gl I8 B gedT gl

b=

ATeiA oIS
GARIG )
IPd

AT STRIb

“S” shaped curve is an example of

Ll A .

Positively accelerated curve
Negatively accelerated curve
Mixed curve

Typical curve

A ‘S’ 3BT dsh BT 318 gl

b=

ABRIHD dh
ABRIHSD IPh
forsa am

c1_ifvTep I



21.

22.

A computer used to make predictions about the weather
1.
2.
3.
4.

ARTA F AR A sfIamh wa & v 337 FeEeR &

Micro computer
Mini computer
Large size computer

Super computer

Trial and error theory proposed by

1. Thorndike

2. Pavlov

3. Bruner

4. Skinner

T vd gie Rigemsa”” &1 gades 2 Bl
1. eIesse

2. UEda

3. EGH

4.  Rper



23.

24.

NEP — 2020 was approved by the union cabinet of India on
1. July 29" 2020

2. June28™ 2020

3. November 30", 2020

4. February 14™, 2020

HRA B bald HiFHsel GRT NEP-2020 & 3iefHIGe &l

IGIE]

. 29 get 2020

2 28 e 2020

3. 30edEaER 2020
4 14 BIE3T 2020

This item is not in JVK kit
1. School Bag

2 School uniform

3. Geometrical Box

4 Belt

g 9¥qd JVK (Jagananna Vidya Kanuka) ftee & =18t
1. TPl 391 (School Bag)

2.  pd adl

3. <)

4.

dee



25.

26.

27.

‘MOOC’ expanded form is
‘MOOC’ &I feRaR 9 ...

1. Most optional communication
2. Many organized offline course
3. Massive open online course
4.

Massive open offline course

Area of normal probability distribution curve is equal to
standard deviations

ATHAT URIBdT a1 I &7 813 e ... ATl faaee
& TRTET giar 3l

1.

R I N D

2.
3.
4

IQ between 20 — 39 are

1. Profound Mental Retarded
2. Mild Mental Retarded

3. Severe Mental Retarded

4. Moderate Mental Retarded

20 & 39 d% gigarated (IQ) aret gid g
1. gof / oTgel HweItasd FHear

2. ol / 31cU HAEAD FHedl

3. 9iR / dig AArAG FHedr

4 fora / wes FAERAS Fean



28.

29.

30.

An example of Teacher Centered method

1. Lecture method

2. Project method

3. Problem solving method

4. Heuristic method

R1erp Ffga ugafa &1 ag ve 3eEU B
1. oS ot

2 ufs=eter fafer
3. TR FAE fafd
4

iR i

Guidance is a process of

1. Providing information to the child
2. Giving protection to the child

3. Teaching morals to the child

4. Assisting the child in making right choice

ger uefel U B ..

1. o<l &l SITeIPR] UeTe Bl
2. o=l B AAIG el

3. o=l &l afdear Raaren
4

Tl B AG AT B A AGIRIAT Bell

This is not an image editing software
1. adobe illustrator

2 photoshop

3. coreldraw
4.

audacity

Ig A vlefdor Arwedr =gl 3l

37ST gl
BICiem

PRSI
3reTAafe

b=



31.

32.

APTET — Paper- 11A — 2022

Hindi Language

UeTiel Ugdhe Al 3T B fadweal H
UgHelC | a8 Sitael &t Rrepft 312111
ag Mt w1 G 3, Taa-=h?

uron &t Rrafde Sreafaa-

o IUIf Afgd o/ Bl ugAfeiv|
1. Shge

2. Trewht

3. 3eM™

4. fa=

UETi9T Uedhe AG! 3R &l fadbeal A

UgdeIC | ag Sitael &t Rrepft 312171
ag i @=n G 3, faa-M?

umon & Prafde Befrea-
At Y Reph O=A . ...

1 faer

2 Rrafaa

3 feratae

4 311



33.

34.

35.

JMETTT U AG! IR &I fabedl A uganferv|

3T FAR A SN 303 3101 dod P 2ATh USTe Bl
31 S &1 2aansit & o1t H faur 3/ B 3Tk 3eTeh!
3TRIEMET, 3UTAST B3d 8, 31 PN b Al H 3TR=AT o TH
ATl & HBIA Tl B Fiat g ael siael @ Stferisadarn
Pl ABT JoTA Agel 2Afera 3iferes gt Bl

JMETT U AG! IR &I fapedl A uganferv|
3TRRATATS SN A 37T o IFAATEAl Pl 3101 TG 3iferp
giait gl

1. 3RPEER 3R forswa

2. AggHid den Rarfagiean

3. grRugdl d Feedrted|

4.  Tiareged 3R Sagiaal

JMETTT U AG! IR &I fapedl A uganferv|

3T FAR A Gl 31T 3101 ded Pl 2ATh USrel Bl gl
S 19T Saar3i ot ofth A Ty 3=3a 3 31k 3!
3TRIEMET, 3UTAST B3 8, 31 PN b Hel H 3TR=AT o TH
AdTcl & HpIAc dT HH gidl g d siae Bi 3ifeitdaaarn
Pl ABT JoTA Agel 2Afera 3ifers gt Bl

3Ren A A ofh fean 3.........

1.  cgarsit & ot

2. Tge orter

3. 310l I & AR

4.  Riar afw

“PIIAT-BIHSY’ AHB BIAT & BT 5l
I =91 el

#AfRrent erT @

ATRRTH 1A oihe

HPeeR sy

B o=



36.

37.

38.

39.

40.

A AT ITABR & AGY A 7YY SISt gl

1. 153 o1 v - fisrg
2. Riamfn - smarf IewEg gae

3. g dae - a1q 9T Yaz & A

4. NG AW - HRdg gRedg

gora 3fcerd =iote 3l
. %3

2. 8,8

3. 9, ¥

4. @, a

oA Haui TR gl

. 3,3

2. B, %8

3. 31, T

4, 31,3

URY’ OE P AgHT U Bl

1. g

2. 4|

3. SR

4. G

TAA ST 9T BT gAfTaTEl gl B

11t



41.

42.

43.

44,

45.

““cTeds B IMMeT 31Tal 3771 (FFiTpa o areT H A

BRP B Ui AT ST gl)
1. @0 BR®B

2.  YETH BR®G

3. 31frpIur BRB

4. HH BR®B

toitg & Afgen 3nfe s ubR & 3|
(Fmitepa ore v bR &Y AT )
l. g g Asll

2. ofid ares Jsi

3.  fod draes Asi

4. HTg dreess HsiT

golH 3MTIBRI A Bl UATIT BHHSIC|
1.  geea

2. e

3. TR

4. ISPl

SN I 3A FTR B 37 B

1. S Bb & e

2. [t 3 gom s=en

3. A 1 A AP

4. SH-UT A dTer e

“ferzgg” B 3t B ..

1. ot zuef IfEa &t
2. o g g4 @
3. ot 9 Aga @

4. it 9Rom g4 B



46.

47.

48.

49.

50.

saﬁ’i%ﬁawﬁﬁ%@(ommél
ArRyare) Rieet
<IepT I ferest

ol fereat

oraa Rrget

““3MTY gTATZR HISTE’’| SHADI HAATH U B
. 3TUA gERR fear Sl

B

1

2. 37UA gaRr fea sl

3. 3R gEeR Rpd Smua|
4 3MUA gEd_R B Sirar 81

1

2.

3. 37eAe S HNor fe=m gl
4 SISHT JZdd ugdl Tgon|

1. IRPR fabar A 3usitaar &I g2 gifer g3t ward! gl
2. IXPR fasbar A Iusiar Pt g3t gifer FHart 3
3. AIPR JUNH A fashar #i g2 gifer gt FRareh 3
4.  TBR fabar A Iusiadr Bl HIATA! § G gifel

Sl ATeIR ST gl
ISl ST A Teldr ol
&1 R dzrar 3

AR TRV B gie A g ara Bl UgaIterv|
1.
2
3
4. Pgeitar siaf¥er A ageen gl



51.

52.

53.

54.

55.

foreat foifra # A fopw g & Abs fvam B

1. 3 ISR Sirar gl

2. 3fa HAl R Joar 3

3. el ASH UR Teoid! 3l

4. 3G HISE BT B

“PITH WFHA BRI Alead DI’ | B 30T
& AdY A Ug HAA FoABT

1. gdg

2. HES

3. aEe

4.  dwRIAZ

oA Ppuld gof FA T & AddT A Bedel HI IR Fl
1. dR=IHA

2. BHU A

3. oned I\

4. 3G TA

“TAATHAT BIACAT BRI A’ 3H Ulh BT I07 ferarmsie
PHIb IUN BT HH T A A B PHI Alel JiaT B....

1. o1 y=ard

2. HATferel

3. d9ReI

4.  aHedidcTDl

GId 3UAY bl IUATT A JSTb 31T IUHATS bl
3TIRY A UCIh quie BT SIIdT &, dd ... 3TciPIR

gia 3l



56.

57.

58.

59.

60.

10 df @wan @t UTea YIad & 3idold Bl A sfas
A BT fIBRA Bl A UG HT 3 36 3.

1. ifaag

2.  BH ARAArRAl

3. 3[EREr 3U™

4.  HUT-BUT Bl AfEBRY

9t w2 & Ul Ydd & ‘3FAIN U6 A HaRR &

3TAR AT &A1 &R olell ANGC|
1. Hf®

2. TRO

3. dRe

4. 3FETA

“gFBRY T T ARk Pl aoig A B it gES A Ab
Abar’| Ig are fepaal faean A Farl

1. freen & AT
2. &g eud
3. SR

4. ol ga

AT P&l Bl UTe YZad & 3icota it fefor 3R
gigaal oIl & AR H Ia & 60 3 uTe HI 3Miiere
fopar ot

1. SHAEER! &1 Bd
2. ABAdl & HA
3. ATEA drcih

4. 3m3n Fd I

ToIH Bl FHel B UTed Yad & 3idoia ‘33N T2 g
RamG” v 291 aifth ofia B, St Soify e
Raata &1 3, AP Bld Hid 3l

1. gHa AR
2. ARSI A
3. &g W&
4. HIelER



AP TET - English Language — IIA,

Our classroom is located on the first floor of our school
building. It is quite large and spacious. It has two doors and
four big windows.

The above passage can be

1. A diary entry

2 A description of a classroom
3. A biography of a classroom
4

A poster on a classroom

Where did he find the pencil?

The passive voice of the sentence begins with

1. By whom
2 The pencil
3. Where was
4 He found

He was a skilled archer.

Choose the correct ‘yes/no’ question.
1. Is he a skilled archer.

2 Was he a skilled archer?

3. Wasn’t he a skilled archer?
4

Isn’t he a skilled archer?

Choose the expression that we use to express thanks.

1. You are welcome.

2 It was a pleasure.

3. Don’t mention it.

4 I’m very grateful to you.



65.

66.

67.

68.

69.

Isaw  dog.  dog was barking.
1. a, The
2. an, The
3. the, A
4. the, An

He could do nothing,

Choose the correct question tag.

1. couldn’t he?
2 can he?

3. can’t he?

4 could he?

Choose the prefix in the word ‘unknowing”.
1. unknow

2 know
3. ing
4

un

Choose the word you find between these guide words;

foggy - fondle

1. folio
2 flung
3. flow
4 focus

Choose the word with correct spelling.

1. sanctuery
2 strugle

3. acceptance
4 recieve



70.

71.

72.

73.

Choose the correctly punctuated sentence.

1.

2
3.
4

“No,” the doctor said.
“No, the doctor said.”
No! the doctor said.

No, “the doctor said”

‘Fall of night’ means

1
2
3.
4

Our techniques give a unique and durable colour to the fabric.

early morning.
afternoon.
midnight.

late in the evening.

Choose the antonym of the ‘durable.’

1.

2.
3.
4

fragile
wrap
harsh

mounted

He said , ‘please come with me.’

Choose the indirect speech of the sentence.

1.

2
3.
4

He ordered me to go with him.
He requested me to go with him.
He suggested that I should go with him.

He promised me to come with me.



74.

75.

76.

77.

Keats died Romantics.

Choose the expression tocomplete the meaning of the sentence.

1. younger than that a fewer

2. as young as many other

3. so young as most other

4 younger than most other

Whatl  is that you well in your job. Really!
I vyouthe truth.

Choose the list of three verbs that fits the blanks respectively.

1. am saying ; are doing ; am telling

2 say ; told ; did

3. am doing ; are saying ; was telling

4 am telling ; are saying ; am doing

Maria hasn’t wanted to drive since she her car.

Choose the verb that fits the blank.

1.

2.
3.
4

is crashing
will buy
crashed

would crashing

The disease eats away the liver.

Choose the meaning of the phrasal verb ‘eats away.’

1.

2
3.
4

recovers from
sleeps well
destroys slowly

comprehends the whole



78.

79.

80.

1.

She saw a rabbit that was wounded.
Choose the simple sentence of the above.
1. She was wounded by a rabbit.

2 She saw a wounded rabbit.

3. She has a rabbit that has wounds.
4 She wounded a rabbit.

The party wenton _ after three o’ clock.
Choose the word that fits the blank.

1. by

2 until

3. over

4 during

I visited most of the main museums and art galleries
my stay in Italy.

Choose the word that fits the blank.

1. over

2 for

3. during
4 about

Choose the linker that shows contrast between two ideas.

l. SO

2 although
3. and

4 therefore



82.

83.

&4.

85.

Raju started shouting prove her wrong.
Choose the linker that fits the blank.

1.

2.
3.
4

furthermore
moreover
in order to

although

How long are you waiting here?

Choose the part that can improve the underlined part
grammatically.

1.

2.
3.
4

you have been
you been
have you been

were you

I have met two women, whom [ believe, were hospital nurses.

Choose the correct option that can replace the underlined part.

1.

2.
3.
4

who I believe
each I believe
who I am believe

whose [ was believed

Choose the word that can express an abstract idea.

1.

2.
3.
4

pleasure
hen
herd

soap



86.

87.

88.

89.

Choose the uncountable noun from the following.
1. colony

2 patient
3. lioness
4

information

Could I use your textbook for a while, please?
This sentence indicates
1. ability

seeking permission

2
3. possibility
4

past ability
Nobody in the class  the answer to this question.
Choose the word that fits the blank.
1. know
2 knowing
3. known
4 knows

Read the following passage.

My father and mother complemented each other. My mother
was fragile, my father robust. Her face was responsive, my
father’s impassive.

The author says that his mother was

1. just like his father.

2 opposed to his father.

3. indifferent to his father.

4 different from his father.



90.

Read the following passage.

My father and mother complemented each other. My mother
was fragile, my father robust. Her face was responsive, my
father’s impassive.

Her face was responsive.

This sentence says that

1. her face was passive.

2 her face has no reaction.

3. her face showed her feelings clearly.
4

her face was always gloomy.



91.

MATHEMATICS (Hindi)

If a train travels at the speed of 40 km/hr. it reaches the
destination 11 minutes late. If it travels at 50 km/hr. speed then
it reaches destination 5 minutes late. The distance it has to
travel is

1. 20 km.
2. 22 km.
3. 23 km.
4 25 km.

Th e 40fFal /dar A afg A aea A 11 Fee A A
JiqeT W ugadt 31 afe ag 50 B / der B ot A
Toial A 5 Bere 38 A Jidey uT ugadt 1 &t g H
Tpaett gt a1 &=l gl

1. 20 fB.a
2. 22 .
3. 23 A
4. 25%B.F



92.

93.

94.

A tree breaks due to storm and broken part touches the ground
by making 30° angle. The distance between the foot of the tree
and top of the tree on the ground is 6 m. then the height of the
tree before falling is

QT & HRUT UH US Tl gl g3l TZAT 30° BT BioT
eI STaHIe R PRTI o8 A STl U BRT us &

ofif & difg & g 6 Hlez 3 ot PR A ugat Uz H Ha1E
fRperett 32

I NE)

2. 63

3. 93

4 124/3

Solve —1_7;(1”20
Cot"0 -1

1-Tan0

1. Sec’0

2 Cosec’0

3. Tan’6

4 Cot’0

IfSin A=CosBand 0° <A, B<90°then A +B
Sin A=Cos BBl 3R 0°<A,B<90°dl A+B

1. 45°
2. 60°
3. 90°
4. 30°



Sin(A—B)=% andCos(A+ B)=% then A =

Sin(A—B)=% 3T Cos(A+B)=% gal A=

l. 30°
2. 45°
3. 60°
4. 90°

The volume of a cylinder is 308 cm’, height is 8 cm. then the
lateral surface area is

U BT el 308 cm® 3HATS 8 cm Gl al FAD!
HSTI3N T &¥het iom|

1. 186 cm®

2. 176cm’
3. 125 cm?
4 175 cm?



97.

98.

If the conical tent height is 3m., and base diameter is 8m., then
the curved surface area is

AFAPR aFg Pl HaTg 3 Hle, IR A 8 ez @l

dl 99 BT I5h TR &1 gl
1. @mz
7
2. @cmz
7
3. ﬂm2
7
4. ﬂcm2
7

A line drawn through the midpoint of one side of a triangle
parallel to second side will be

1. Parallel to third side

2. Perpendicular to third side

3. Equal to third side

4. Bisects to the third side

Profet & v aon & AT foig A IR e I AATR
it o1 35T =g g

1. R e & AAER gl

2. AR ool & dadd gl

3. ORI el & W 3l

4. AR oSt B HeAtag uR fefasnfoa sear 3l



99.

100.

If ABCD is cyclic quadrilateral and ZBAD = 75° then Z/BCD
value

I agHst ABCD H /BAD =75° g d@ £/BCD &1 g™
1. 75°

2. 85°
3. 95°
4. 105°

If a circle passes through all the vertices of the quadrilateral,
then the quadrilateral is called

1. Circle

2. Cyclic Quadrilateral

3. Square

4. Half circle

Ud ga agafs & el oftel A gz Joar 3 ot a8
TGy B 3 TG A 3|

1. aba

2. G agys

3. aof

4. 3refgw



101.

102.

1
Rationalise the denominator of ———
3J2-23

1 .
mmaﬁgﬁaamaamﬁﬁ....

i 42423
' 5

,  42-283
' 5

3 324243
' 6

. W2-283
' 6

If we add the additive inverse of (_?4) to the product of

inverses of -9 and i, we get
2 18

A 3MSdreT uiRons 3.

1. 1

2. 2
3. 3
4 0



103.

104.

105.

Malik has sold two tables Rs. 3000/- each. He got 20% profit
on one table and 20% loss on second one. Then the loss
percentage on whole is

AT = &1 Hol JRIGH U - U Bl %.3000/-H o=l
TP Aol U 20% STH 31 dl g Al U= 20% =rer foen

dl pe arel fohaal gfded &1 5?
1. 2%
2. 3%
3. 4%
4, 5%

IfA=1{1,2,3,4,5};B={ab,c} then AnB
A={1,2,3,4,5};B={a,b,c} 8 @ AB
1 {1,2,3,4,5}

2 {a,b, c}

3. {1,2,3,a,b}
4 {}

The areas of frequency polygons and histogram drawn for the
same data are

1. Equal
2. Not equal
3. Not equal all the time
4. Cannot say
TS gl & fore fifda smaa 39 fsil & arawan
AZHSI DI SBA
1. HATA
WIER gl

2.
3. g deH A JamE g
4 I8l Iar JApd B



106.

107.

108.

In AABC /B =90° and Tan A=~/3 then

Sin A CosC+Cos A SinC =
Th AABCH /B =90°, 3R Tan A=~/38 at
Sin A CosC+Cos A SinC =

1.

SN

2
3.
4

Number of multiples of 4 between 10 and 250
10 3TR 250 & T 4 F OIS Bl HBAT UgATeC|

l. 50
2. 60
3. 70
4. 240

If f(x) = apx" + a1 X"+ @, X"* + ... + a,.; x + a, is polynomial
of degree ‘n’

1. ‘n’ is negative integer and ag# 0
2. ‘n’ 1s a positive integer and ay # 0
3. ‘n’ is any integer

4. ‘n’ is zero

f() = apx" + o X"+ X"+ ...+ a, x +a, ‘n’ B Tt
1. ‘n’ U ST YOI § 31T ay# 0

2 ‘n’ Ueh IelTcHD Uil § 31T a9+ 0

3. ‘n’ aﬁéWW%'

4 ‘n’ TP I gl



109.

110.

111.

If 21+ 2" = 1280 then x =
gfe 27+ 2" =1280 8 @l x=

8
9
7
6

Sl

The point satisfies the equation 2x — 5y = 10

2x — 5y = 10 FHIBIOT Bl U B A g [HeAaT 3

L (0,2
2. (2,0
3. (5,0)
4. (243,-43)

The point which divides the line segment joining the points
(4, -3) and (8, 5) in the ratio of 3 : 1 internally

sit fig (4, -3) 3R (8, 5) 2Nl arelt IW=zis B 3 : 13=UE

# fqanfora waaren fog a5 3l
1. (7,3)
2. (3,7)

o
s



112.

113.

114.

2270y can be expressed in terms of angle 6 then the

Xy =X

value of ‘m’

27N -y @t Bior 0 F TaR A BT HE

Xy =X

1. Sin6

2. Cos6
3. Tan 0
4. Sec 6

A person recorded 24000 tosses of a coin and he got 12012
heads, then the probability of getting head is

U &b o RAs B 24000 IR IBTAADB UNRUNH Tof 1opa
al 3A 12012 T Bra E af e 3ma &) siRrepar 21

| 24000
' 12012

5 12012
' 24000

12012
4. 24000

If the probability of E is P (E) then
E & wifRresar P (E) gt at

1. 0<P(E)<1
2. P (E)>1

3. P(E)<0

4. P(E)=0



115.

116.

MATHS - METHODOLOGY (Hindi)

Which of the following does not describe nature of
Mathematics

1. Logicalism

2. Traditionalism
3. Tatva veda

4. Intuitionism

L2 )11 ) I 2 T G o B 2 e P G e
1. arfhearg

2. AvERMEE

3. dcddiq

4.  3iasiearg

Recall is the specification of
1. Knowledge

2. Application

3. Analysis

4. Synthesis

TAD! SR IS Bl BT gl

SiTet
ST

1

2.

3. frecuor
4 ooy



117.

118.

To solving a problem by breaking into small parts is
1. Inductive Method

2. Deductive Method

3. Analytic Method

4. Synthetic Method

TARRT Pl BIS-BlIc HPN HA 316191 B & Bl Bl TG TP
fafer 31

1.  3oTHEe [y

2. feroree faty

3. Taeciwor fafgy

4 Tecryor fafer

The last step in problem solving is
1. Verifying the solution

2 Planning

3. Execution

4 Identifying problem

THIIT HAATETS BT 3ifad aeor

<



119.

120.

The following is more essential for the achievement of Maths
club programmes

1. Black board
2 Chalk

3. Chart

4. Bulletin board

ST A U JNMUId Ferdl & Iuaied & fee 31fa 31maeds 2
1. AYTHUC

2. b
3. 4R

4.  golea A

The evaluation takes place during teaching learning process is

1. Formative Evaluation

2. Inclusive Evaluation

3. Descriptive Evaluation

4. Summative Evaluation

g HcHihel 112107 313ATH HId AA AT 1 gl
.  ITEIIHSD HeAidwe

2. AN FeHiwe

3. TeRuners seide

4. HUGUNHD FHedihel



121.

122.

APTET - Paper- II A —2022
Physics (Hindi)

Volume of solids is measured in
1. Metres

2. Square Metres

3. Cubic Metres

4, Centimetres

SIAT P A STR HATAT ST 32
1 FHiez

2 PfeeR

3 et

4 AR

If the net force acting on a body is zero, then the state of
the body is

1. at rest

2. at uniform rotatory motion
3. at straight line motion

4. at vibratory motion

TG R ATl RO I e 3 df 3 a¥g P Raafa
R

1. fersamer otfa

2. T=Aepf orfa

3. R I3 orfa

4. ue orfa



123.

124.

125.

The time taken by the body projected vertically up with a
speed of 10m/s to return back to the ground is (g = 10m/s”)

1. 20 m/s

2. 10 m/s

3. 2 m/s

4. 5m/s

10 / A Bt o1fcd A STl A HUR gt TR Bepl IR a¥g
oA B SAlead A AT AFT UG |

1. 20/=A

2. 10F/=A

3. 2R

4 5 FH/A

In the modern periodic table ‘Halogens’ are in this group

3nggferss 3mad AR H Fellore’ 3T FTAHE S Bl

1. IVA
2. VIA
3. VIIA
4. VIIB

If the temperature of an object is 300 K, then its
temperature in °C
Topell aeqg &1 aruATe 300 K 3 dl, 3AD! auae °C # I3

glaT 3

l. 25°C
2. 27°C
3. 29°C
4. 23°C



126.

127.

The light travels from rarer medium to denser medium. The
angle of incidence ‘i’ is equal to the angle of refraction ‘r’.
Then the angle i” =

Tl T faver AreTa A Tas ATeTH A e Bt B
dd 3MTadel BT 7 30T 3[Uddel BT 4 alell Th JAT
gid 3, a 3ude BT <’ =

l. 0°

2 45°
3. 90°
4 60°

The unit of magnetic field strength is

1. Oersted

2 Ampere

3. Coulomb

4 Faraday

gABI 215 & dThd Bl Tg Uh THATU 3.
1.  3733%es



128.  One of the following is known as the morning or evening star

l. Venus

2. Mercury

3. Neptune

4. Earth

$ad A [ Jag 3R oH & ar Aed gl
1. Ak

2. qg

3. ougd

4. gedt

129. Rusting of Iron is a
1. Physical change
2. Temporary change
3. Chemical change
4. Physical and Temporary change
ciig & Si9T oIl 83 d3g &I Uikdde gl
1. it uRade
2. 312ATS gRade
3. e uRadsa
4 afiferep, 3RS URadel



130.

131.

132.

Sulphur dioxide is a

1.

basic oxide
neutral oxide
amphoteric oxide

acidic oxide

The gases which dissolve in water

uTell # geterdrett A

1.
2.
3.
4,

0,, CO,
Hy, N
SO,, FeO,
Os, He

In the chemical equation ‘.’ represents

1.

2.
3.
4.

gas evolved
precipitate
acidic solution

basic solution

Ao THBeer A | Riger & Ffua e 3.

b=

arg Bl BE
31T et
39 faer=re
iR faerret



133.

134.

Biology (Hindi)

Ducklings can recognize their mother through this kind of
animal behaviour

1. Instinct
2. Imprinting
3. Conditioning

4, Imitation

IoRA & T 5 TPR F UYd TagR A 31Telt FH B
UgdTe Ahd gl

1. agond gt

2. 3EERO
3. 3iggad
4, 3BT

Plasma membrane is made up of
1. Proteins

2 Lipids

3. Amino acids

4 Lipids and proteins



135. The scientist who proved that oxygen is released from water
during photosynthesis

1. C. B. Van Niel
2. Robert Hill

3. Joseph Priestley
4. Jan Ingenhousz

A dsTiferdd & Alfad B 6 TepTer HedAwur & SR urelt

A 3nfeRIee ferdbarat B
1. ANA. aeEta

2. e fga

3. OB URed

4 STl Sofelgias

136. Cellular respiration in prokaryotic cells like bacteria occurs in
1. Mitochondria
2. Cytoplasm
3. Golgi Complex
4. Nucleus

AR S Aibieed DIRABIST H DIfrBI 2raTet

AP R giaT 3

1.  Acimitgan

2.  ATSSUATSIH
3. Jlicoll BIAcaA
4. &g



137. The lens present in our eyes
1. Biconcave
2 Biconvex
3. Concave
4.

Convex

AT 37T A Alog A

1. IHATIGA
2. 313N
3. 3radad

4. 3

138. Deficiency of this hormone causes diabetes insipidus

1. Insulin

2. Oxytocin

3. Glucagon

4. Vasopressin

A gIAlT B Bt A s shafigs glar 32
£forat
3MTterTeiRTe

SeIpIITTEl
TR

el S



139.

140.

The liquid portion after formation of blood clot is

1. Lymph

Among the following the natural habit that doesn’t allow
human activity and is straightly reserves for protection of wild
life

1. Sanctuary

2. National park

3. Sacred Grove

4. Zoological Park

A A Sl UIpicd 3MGd ATeTd JNdrdier Bl AT gl
qat 3, 3R geumoft @t et e F v g =g A
3mRfea Bl

1. STHIATROY

2. I g

3.  ufqw 3uas
4

SIcTfSThet Ut



141.

142.

The mammal that builds dams across water streams

1.

The wings of a bat and wings of a bird are examples for

1.
2.
3.
4,

Vestigial organs
Analogous organs
Homologous organs

Fossils

uzll & UH 3R gHINES & UH fhAd 31807 3

1.

2.
3.
4

3ae 31

31SY 391
TAHSIT 30T
CIGIEE:|]



143.

144.

Adam’s apple is formed due to elongation of
1. Larynx muscle

2. Thyroid cartilage

3. Thyroid gland

4 Sebaceous gland

$AG Igel A USHA U Jeidl 5?2

1. a9 ueh

2. ERIRISS difcierst
3. aRRTSs difa

4 THAHT i

Particulate pollutant that pollutes air
CO,
Ash
SO,
CO
B SefRir et AT T S

CO,
A

SO,
CO

%P’.N:*(ﬂ Sl A I



145.

146.

BIO Methodology (Hindi)

The broad attempts for understanding the nature is called
1. Fact

2 Theory
3. Concepts
4

Laws

AR 3TA-UTH & Al gleram H glearel geenaii Hi

HAASTET ..

1.  a&

2. fTagia

3. 3/@eRemy
4 fererer

“Micro teaching is a face to face teaching strategy with
reduced class size and time” stated by

l. L.C. Singh
2. R. N. Bush
3. G. B. Shah
4. D.W. Allen

& 1212107, H2ll 3MBR, AFT & ATl HA-ATH [hd
SITetatet 18101 =Yg 3, I8 B fhAadT 3l

1.  Ja.3 R

2. 3R.UA.gA
3.  oiL.al.emg

4.  3l.sccgUad



147. The number of steps in Herbart lesson plan

gAC UTSThA A TN Bl HBA..

R Y, B ) SN

1
2.
3.
4



Physics Methodology (Hindi)

148. Affective domain was developed by

1. Benjamin Bloom
2 David Krathwohl
3. Simpson
4 Vygotsky
HTATATCHD 3131 Bl Seglal fIepAd fepa
1. dfsee <@
2 s wrage
3. Riwa
4.  AoTCTD!
149. Find the correct sequence of concept formation in science
a) sensation
b) concepts
c) stimulus

d) percepts

forsTer o & 3R faerA &1 A A ugAeiv|
a)  HelAell

b)  3EERO
c) TGl
d) fErR/udie
1 a,b,c,d
2. c,a,d, b
3. a,c,b,d
4 c,b,a,d



150. The process of evaluation is not related to

1.

B w

%W.N:*rgl

Student’s social status
Educational objectives
Examinations, observations

Teaching Learning experiences

HAcicha Uik A Fafra e gt 82

BE Bl ATHATSIS T
Afarp g

URNel, 3idciicpel
Treror 3ifEeTe 31gera



